IR 4 H $N IR ;¥ RE % IS
A | B I5H = AEEE HE4E V: =
4 23 BBEHE 150,000 150,000
4 1|ERIERE X8 880 149,120
al 10| BEERE %8 825 148,295
4 14| BRERRE X& 825 147,470
5| S5|&ERMERE XE 1,980 145,490
5| 12|ERHMERE X& 440 145,050
5| 12|EMMERLE X8 275 144,775
5| 18|EMBAE EEEENKR2-3A%) 1,107 143,668
5| 17|BERMERE XE 605 143,063
5 17|ERMERE X8 660 142,403
5 25|BHHMERE X& 715 141,688
6| S5|ERMERE X& 275 141,413
6| 7|EMERE XE 1,881 139,532
71 1 ERMERE X& 495 139,037
71 1 EHBAE EEGHATEDORD M) 67,340 71,697
7| 8|EMMERE X& 715 70,982
71 16| EXMERE XE 792 70,190
7| 17| ERERE X& 330 69,860
7| 28| ERMERLE XE 275 69,585
7| 30| EMMERE X& 619 68,966
8| 10|EMMERE XE 220 68,746
8| 10[ERMERE X8 715 68,031
8| 13|ERMERE X8 550 66,921
8| 30|EMMERE XE 953 65,968
10| 10(EMERLE AN 990 64,978
10[ 25|EMEBAE HATEDRMNLMEI6 51,245 13,733




10[ 31|ERMERE 9y TR—FK 825 12,908
1| 4|ERERE BA 876 12,032
1| 4lEpErmE RAYRJLE 605 11,427
1 4| ERERE R—k<—h— 275 11,152
11| 20|&ERMERE R—K<—h— 605 10,547
1| 25| &EHMERE AE/—k 770 9,777
11| 30|&ERMERE AE/—h 440 9,337
12 1|ERERE /—k 880 8,457
12| 5| &RMERE T7A IRy YR 2,255 6,202
12| S5|EHMERE RILFINY 275 5,927
12| 12| ERERE DUTIANE— 1,265 4,662
12| 18|ERMERE IR ITTAIL 1,265 3,397
12| 30|EHMERE T74ILRYIR 1,925 1,472
12| 30|ERHMERE LR—h K 1,705 -233
11 7|EHERE 74 550 -783

1 9|BEHERE UL YD R 330 -1,113

11 10| EXERE e T 7P S 385 -1,498

11 12| ERERE T7AI 550 -2,048

1| 25| &EFHMERE ¢ VAVS/2V] S 1,595 ~3,643

2| 1|BEHERE T7A IRV R 990 -4,633

2 B|EMBAE RAFEE 3,000 -7,633

2| 20(EMMERLE AV 330 ~7,963

2| 24|BRMERE RE 330 -8,293

3| 20|ERMERLE IoIRTTAIL 880 -9,173

3| 20|BERHMERLE A4/ —rTws 660 -9,833

(IE&ET] 159,833 -9,833




